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Time alloted for marking answers of all 200 Questions : 3:00 Hours] © |Maximum Marks : 200
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NOTE

1. Thts questlon booklet contains 200 questions numbered from 1 to 200 and each questlon carries 1 mark.
~ All questions are compulsory There is no negative marking.

2. Tally the number of pages along with no. of questions printed on cover page of the booklet. Also check
that questlon booklet contains the questions of all relevant subjects/topics, as required and stated
above and no repetltlon or omission of questions is evident.

3. If any discrepancy is found in the Question Booklet, the same can be replaced with another correct
Question Booklet. » ,

4.  Before answering the questions please read carefully the instructions printed on the back cover page of

" the qUe'stion beoklet and strictly follow them. There is no provision of erasing or changing of the answer
marked ifi O.M.R. answer sheets by any other means. Therefore, Indicate your answers by blacking
full circles by black ball-point pen carefully on the O.M.R. Answer Sheet provided.

5. Use of any type of calculator, mobile phone or any other electronic equipment and log table efc. is

strictly prohibited.
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A wire of resistance Riis cut into ten equal parts then these parts are connected in
parallel to each other. Resistance of this, arrangement will be :

(A) 001R (B) 01R
©) 10R- (D) 100 R
@Rmu%mﬁﬂwmﬁm ﬁmﬁmmﬁ%w%lmm :
(A) 001R ®) 01R
(C) 10R (D) 100R

A hollow sphere of 5cm radius is charged in such a way that 10 volts potentlal develops

on its surface. Potential at 2 cm distance from the centre of sphere will be :

(A) 5Volts (B) 4 Volts *
L
(C) -32 Volts (D) 10 Volts

o 5 A e B w@%@@@f?ﬁ%aﬁmm mﬁm%mm%ﬁmwmﬁw
10 i ®1 MA B B ¥ 2 . R fasa @

A) 5d . | (B) 4dw
(©) -%Qaﬁrve : (D) 10d=

Two points at 0-5 metre distance from each other have a potential djfference of
50 volts. The work required in taking a charge of 2 coulomb from one point to another

will be :

(A) 1-0 Joule ‘ (B) 25 Joules

(C) 50 Joules ' (D) 100 Joules -
@—W%osﬁaaﬁzﬁwfwﬁa‘tﬁﬁﬁrﬁsoaﬁwﬁw%lZmﬁmﬁ@
forg A TR T A ST F STervTH F k1 HH G ;

(A) 10 o B) 25

(C)'SOGLE v _ (D) 100%

A capacitor of 4 uF capacnty is charged upto 400 volts. Its plates are connected by a

4.
conductor wire, then heat produced in the wire is :
(A) 064J - . (B) 0-32J
(C) 0164 (D) 1-28J _
4yF e 31 ek TR 400 diee T SR 1 wﬁ@ﬁﬁqmwmmsﬂgﬁmm
H I S T ‘ :
- (A) 0644 ' (B) 0-32J
_(C) 016J ' (D) 1-28J - »
A-Set -  13/23GRA—page-5 | I-91
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A charged condenser is connected to a ba‘ttery' If a,strip of dielectric material is

5.
introduced between its plates then which of the following quanttty will remam
unchanged ?
(A) Charge SEIE IR (B) Potential difference
(C) Capacity : (D) Energy . '
@wﬁﬁmemﬁaéﬁﬁﬂm%mﬁm?ﬁ%aﬁwﬁgﬁwéﬁ@q@@mﬁﬁﬂ
B e g mﬁaﬁaﬁ?ﬁ 2
(A) s : B e
(C) wnfem . (D). -
6. The unit of permittivity of free space is : I o
(A) Newton—-me’trez—couIom_bj2 , (B) Newton.—m‘etre“?'—coulomb2
(C) Newton™'-metre 2—coulomb? (D) Newton~'-metre®—coulomb2 - |
frafq @1 feregaefierar =1 @ € Y \ |
(A) SRz 2 (B) iR A-FHAH
(C) =g mgam? (D) A -Hiel-wEa
7: - Unit of specific-heatis : LT N
(A) J-K'—kg™ | .. (B) JK'-kg
- (C) J'-K—kg™ - N (D) J'-K kg™
fefire et o1 A0 § - | | |
A AR - (B) o-dfrm-fEm
(©) m~'—Sfe-frm (D) s;a—ha‘kfearhm—f -
8. Asimple harmonic oscillator has frequency 20 Hertz and amplitude 5 mm. Acceleratlon
at maximum dlsplacement will be : '
(A) 125-6 ms™ | ~ (B) 79ms™
(C) 628ms= | (D) 0-628 ms™
Th W mﬁa’rﬁaaﬁaﬁﬁizozﬁﬁmwsﬁﬁ.%fﬁwmﬁmﬁr{m
3 ; | e |
(A) 125-6#.9.72 (B) 792
(C) 628+.4.72 B (D) 0- 6281=ﬁ@‘2
I-91 13/23@RA-—page-6 - A<Set
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9. “Inthe preparatlon ofsoap, substande used as lyé is .
Cay N (8 NaOH
- (C) CH,COONa. .-~ = (D) Sodium Silicate
W@ﬁﬂfﬂtﬁ Bﬁ%mﬁmﬁm%
(A) Na B) NaOH -
(C) CH,COONa | . (D) Sfcam Rz
10. Atroom temperature oil is liquid because it has :
(A) Unsaturated fatty aC|ds (B) Saturated fatty ac1ds
(C) Non—fatty protems ' - ._ (D) Glycerol ‘
W%mm%@ﬁ%mﬁ%ﬁ%msﬁtﬁm%
(A) oTHgw SEE S . (B) W@ TEd v
C) ot W - (0) femia
11. Which of the following enzymes hydrolyses triglyceride into fatty acids and glycerol ?
(A) Amylase 0 (B) Maltase
(C) Lipase o (D) Pepsin |
ﬁwﬁ@ﬁﬁwmﬁw@ﬁmmmmﬁmmm%% ?
ORI | ®) e
() R (D)
12. Enzymesare:
(A) Carbohydrates ~ ~ (B) Nucleic acid
(C) Fibrdus protetns o (D) - Globular proteins |
(A) Wﬁ?ﬁ - (B) frereh st : .
©) e wEm | (D) e ek : -
A-Set 13/23GRA—page-7 1-91
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13.

14.

15.

In acidic medium KMnO, reacts according to the following reaction :
2 KMnO, + 3H,S0, > K,SO, +2MnSO, + 3H,0 + 50

Its equivalent weight is :

(A) 31.6 CE (B) 52.7

(C) 720 ' (D) 158.0 -~ "

st e # KMnO,, et wam sifirfsran e @
2 KMnO, + 3H,S0, = K,SO, + 2MnS0, + 3H,0 + 50
THHT oot WR T '
(A) 31.6 . (B) 527
(C) 72.0 (D) 158.0

25 ml of a decinormal NaOH solution is requ’ired to cbm'pletely neutralise a diabasic
acid containing 0.16 grams. The molecular weight of the acid is :

(A 32 ®) 6

(C) 128 ™ 25
= f5- wﬁwa;méowméwmﬁw%faq@@aﬁa NaOH faea &
25 fafer. @ STavasha Bl ¥1 3T I SR § :

A 32 - (B) 6

(C) 128 y s (D) 25

In an organic compound C = 40%, O = 53.34% and H = 6.66%. Its empirical formula
is : | o B

(A) CHO ‘ (B) CH,0
(C) CH,0 (D) CH,0,
T it AT A C = 40%, O = 53.34% T H = 666%%!%&8@@%@%
(A) CHO M (8) CH,0
(C) C,H,0 - (D) CH402
16. How many isomers are possible for the alkyl group C,H, ?
(A) 2 B) 3
(C) 4 o (D) 5
Ufewhet Wgg C,H, & e wrerrelt oo € ?
(A) 2 ; (B) 3
(C) 4 - (D) 5
19, - 13/23GRA-page:8 - A-Set
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17. IUPAC name of the following is :

H H
H-¢-¢-c
b
(A) 1, 2-Dichloreethane (B) >~ 2, 2-Dichloroethane
(C) 1, 1-Dichloroethane (D) Dichloroethane

e w e g o W am e

(A) 1, 2—STEeIRIug (B) 2, 2—sTEwRikiudA
(€)1, 1-STEirie (D) sEdEE
18. Lyophobic colloids are :
(A) Reversible Colloids (B) Irreversible Colloids
(C) Protective Colloids (D) Gum Protein
aaﬁﬁﬁﬁamﬁﬁg%@
(A) SHIMT DA (B) ITGhHUIE Hiciag
(C) &= =idlgs (D) i e
19. The pH of a solution obtained by dissolving 0.4 gram of solid NaOH in one litre of
water will be : , '
(A) 2 (B) 10
©) 11 | ' (D) 12
w1 & 1 faex ® 3 NaOH & 0.4 T se W o faeraa &1 pH 8t e
A 2 | - (B) 10
€ n - (D) 12
A-Set *a.?'/ 23GRA—page-9 1-91
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20,

21,

22,

23.

FeCl solutionis:
(A) Acidic H (B) Alkaline

(C) Neutral - ?., (D) Amphotenc |
FeCl, foer & : A S
© s o) e

.'!q,'

If the solublllty of Ca(OH is /3. Its solubtllty product wm be:

A3 A ~- (B) 27

©€) 3 Y D) 1243
ﬂﬁCa(OH)zﬁﬁéw\/_%lmﬁmﬂvﬁwm

(A) 3. e | . (B) 27

©) V3 B ) RPN

One litre of a buffer solut:on contammg 0.01.M NH,Cland 0.1 M NH OH havmg pKb
of 5has pHof :.

(A) 9 | FRREE - (B) 10

©) 4 o Dye
OO1MNH CIH?JTO1MNH OH%@memprmms%mpH%
(A) 9 0 R TR N (E) 10 '

<C)4 L (D) 6

‘-The pH of'a’0.1 M acetic acnd is 3. The degree of ionization of acenc amd will be

(K, 20><10‘3)
A 1% - (B) 10%
(C) 0.10% . L (D) Lessthan 1%

:01MQ@ﬁmmaﬁpH s%lﬁeﬁﬁmmaﬁamﬁwaﬁwﬁﬁ( -:‘2'1.sz_10‘3)':
A 1% o (B) 10% R

- (C) 0.10% D 1%1%'@ -

I—91 R 13/236RA——-gage-10 T A-Set
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24. Which of the following compounds contains both ionic and covalent bonds ?

(A) H,0 (B) NaOH

(C) C HLCI , (D) CO,

1 § @ fopw difitr 8 oA qen edders 9 THR S TU B § 2

(A) H,O (B) NaOH

(C) CHLCI (D) CO,

25. In which of the fdllowing ionic, covalent and coordinate bonds are present ?

(A) Water AR (B) Ammonia =

(C) Sodium isocyanide (D) Potassium bromide

=1 # forad st TeddieTs SR SN a7y SYfeed B § 7

(A) s=& | ~ (B) smfTn

(C) Wfeaw EERAES (D) fyrm SRS

26. The energy of the electron in the hydrogen atom is given by the following equation :

92 n2h2 |

) 22 oo ®) 2n2z%*m
27°z%e*m ' nh

C) - ng h2 (D) on

RSSO IXATY] T SRR Y Holl T THIROT GRI SR Y ST R
92 n2h2

(A) 2 ®) "5 224
27222e*m nh

(C) T2 O 7,

- 27. Electronic configuration of H* is : |

(A) 1s° (B) 1s'
(C) 182 B (D) 1s'2s'
H* &1 3o faama ¥
(A) 18° (B) 1s'
(C) 18 - (D) 1s'2s
A-Set ‘ 13/23GRA—page-11, I-91
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28. Number of neutrons in heavy hydrogen atom is :

(A) O (B) 1
(C) 2 -~ (D) 3
TR BIESIST REI] A =JiAl 1 Hen ¢ ‘
(A) 0 ' (B) 1
(C) 2 (D) 3
29. Electronic configurétion of chromium atom in ground state is :
(A) [Ar]3d°%4s’ (B) 3d*4s?
(C) 3d84s° _ (D) 4d°®4s
AT AV HT WH SToRe | goeri+en fa=rm & : | .
(A) [Ar]3d°4s' (B) 3d*4s? 5,
(C) 3d%4s° (D) 4d%4s'..-
30. According to Bohr’s theory, the angular momentum for an electron in fifth orbitis :
25h ‘
A) =
g 5N
B)
25h -
©) S
5h
O 357
IR % fHgIa B STER TH 305 &l vradl we & fog woifa gan ¥
A 2.5h
A =
g SN
®)
25h
€ S5
5h
©) 57
I-91 = 13/23GRA—page-12 - A-Set
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31. Which of the following is a dlsacchande ?

| (A) Lactose

(B) Starch

(C) Cellulose

(D) Fructose -

ﬁmﬁﬁaﬁqmasiﬁmg% ?

(A) TR R

(B) ==

© ¥ o

(D) WM

32. An a-particle is identical with -
(A) Proton
“(B) Neutron
(C) Helium Nucleus
(D) Electron
o~ B THA T :

(A) drRF
(B) =i
(C) iferm Tfires

)
(D) eI

'
LU P

33. Tritium undergoes radioactive decay to give :
(A) o-particle ‘
(B) P-particle
(C) Neutron -
(D) None of these
wrfeam & Weatfea faued & woraey frae ¢
(A) o-=T
(B) B-=u
(C) =
(D) T A HE T

P PO T

“A-Set 43/23GRASpage-13 T =9
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(A ~ B o0
(C) m+n (D) m-n
qﬁ@m%ﬁeﬁnﬁmmmmw&%n&m%nw%w@ ?ﬁwmaﬁaﬁﬁ
M+ RFAFR : | ¢
(A) 1 ' B) O

, (C) m+n ) (D) m-n i

- 1-91 13/ ZSGRRﬁpageeil A~Set

Vs

34.

35.

36.

37.

If 7th and 13th terms of an Arithmetic Progression are 34"éﬁd 64 respectively,.ther;f its
18thtermis: :

(A) 72 | - (B) 86

(C) .89 (D) 92

It Tk THIR @ 1 74 W& 1341 9 HAN: 34 R 64 T, A TR 18 W T ¢ ‘
(A) 72 - (B) 86 '

(C) 89 (D) 92

If the sum of nterms of an Arithmetic Progression is 3n° + 5n, then which of its term is
164 ?

(A) 27th [ (B) 30th

.
] e
.

(C) 24th (D) 25th ,,
Ife Th AR AL & N TG H AR 3P + 50 7, A FIH UG H AH 164 367 7
(A) 279 (B) 303 ‘
(C) 243 (D) 253

n arithmetic means are inserted between 7 and 71. [f fifth anthmetlc mean is 27, then
the value of nis :

(A) 13 (B) 12

(C) 14 /o) 15

7 R 74 & e i e wf fa T ) a5 SO 27 8, A n A A Y
(A) 13 o N 12

(C) 14 o) 15

If in an arithmetic progression mtimes of the mth term is equal to the ntimes of the nth
term, then the value of (m + n)th term of this anthmetlc progressuon is:

) .
AN /"\ /"’"\ SN

Page - 14



38, If b=a-a+a-aly.., thenvalueof ais;: TSR

(D) b-— R - . )

aAgb=a-d+a-a*+.. ,?ﬁa‘vwm%:

- b
A b

39. Ifthe sum of first two tesms of an infinite geometric progression is 1 and every term is
' twice the sum of all the successive terms, then its first termis : :

1 Lo
A) 7 ®) 3
| 3 ' 1 e . e .
© 3 | (D) > B o
qﬁ@mﬁmﬁaﬁ%uma‘tqﬁmm1%ai‘ﬁmqamﬂmqﬁréﬁmwm%
'c?ruamqamm% _ |
A) o ® 3 cdee ot TR L
3 1 o
© 7 D) 3 ‘
A-Set =~ 43/23GRA-page-15 1991
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40. If each term of a positive term geometric progression is equal to the sum of its two
preceding terms, then the value of ris :

(A)

N =

B) =(1-V5)

(C)

Wi N=

(D) %(1+\/—5)

e ¥FeTF T8l aTelt TUIRR S B YA I8 1AM A9 b e <1 Rl & 9 & auel 8, | s
HAA T

1
A 5

- B) =(1-V5)

W N =

©€)

(D) -;-(14 J5)

41. |If four geometric means are inserted between 16(i and 5, then the third geometric
meanis : |

| L
(A) 40 » ® 20
(C) 10 (D) 80
Ifg 160 31X 5 & are =R TuiRR wiea wfae fed 13 8, 6 dIeR O Weg HHA
(A) 40 (B) 20
(C) 10 (D) 80 |
91 13/23GRAipage-t6  ASer
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42. Iflog, a=4, then value of ais :

(A) 81 (B) 64
(C) 27 (D) 16
I log, a=4 &, Maw AT :

(A) 81 | (B) 64
(C) 27 (D) 16

43. The value of log, 125 - log, 4 is:

3 2
A 7 ® 3
5 .

(C) 5 - (D) None of these

log,; 125 —logy 4 H1 M ¥ :

ny 2 2

A 5 B) 3

5 .

© 3 (D) i =
44. The value of log,,(0-001) is:

(A) 2 o . B) -2

(C) 3 (Dy -3

log,,(0-001) F A T :

(A) 2 B) -2

(C) 3 ' R , (D) -3
45. The characteristic of the logarithm of the number 0-000287, is : -

(A) 4 (B) 3

© 2 (D) 3

& 0:000287 & SO HIQUATT® :

(A) 4 (B) 3

©€) 2 D) 3 |
A-Set  13/23GRA—page-17 = 191
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46.

47.

48.

The value of cosec 225° + cosec (- 2025°) is : e
(A) 2y2 (B) 0

© 2 o 2

cosec 225° + cosec (— 2025°) HAR T

®) 2/ @0

N\é\

©) V2 (D)

- 3n .
COt(e - ?J is equal to :

(A) —tano (B) tan®
(C) cotb . | (D) —cotH

001(6—3—273] T :

(A) —tan® (B) tan6 r
(C) coto , (D) —cote

If the angle of elevation of the top of a tower from a point on the horizontal plane at

300 metres apart from foot of the tower is 30° then the height of the tower is :

(A) 5043 metres ' (B) 120 metres

(C) 100+/3 metres (D) .- 90 metres.

I TH AR & S %w%SOOW@@W%WamWBW% @ HAR
H HEE ¥ :

(A) 50J§q°rzt , | | (B) 120 #=

C) 100\/— ‘ﬂa | (D) 90¥=
I-91 T 13/236RA-page-i8  A=Set
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49. The vaiue of cos 75°is :
A 1
(A) o2
(BH \/§ +1
) 22
C) J3-1

5 J3-1
( )‘ N
COS75°HAME ¢

' 1

® 2%
o N841
@ 2t
©) J3-1
(o)'%

. 1T T n .. m
COTE sin—cos—-cos—sin— s :
50. The value of 12 2 1248

® 5 o (®)

6].. N
: \

© o - © %%

g’i;\'ﬁc:’c:}sﬁ—»c.os?ﬁsinE HAAY ;
127082 ‘

(A) > R B 3
© o - o PR
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51. Thevalue of sinC.+sinDis:

(A) ZsinC’LD'sinC_D
2
. C-D C+D
2s cos
(B) in > >
. C+D C-D
2sin cos
(C) ‘ 5 -
Cc+D C-D
2Cos .COS
(D) > >
siNnC+sSiNDHAFT :
(A) 2sin2tBgn& =D
2
. C-D C+D
2s
(B) in 5 cos 5
. C+D C-D
2s
(C) in 5 cos 5
: C+D CcC-D
2
(D) 2cos > cos >
SLI L
52. The value of 00322—2—sm67—2— is :
A) J2-1 5 V2 +1
22 ® 2%
1
C P
©€C) V241 | (D) 5J2
c:osz21—osin67r T
5 5 FHEAT: |
A) J2-1 ' 5 V2 +1
2J2 ® %7
c , .
©) J2+1 (D) 2/2

~ 13/23GRA—page-20
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53.

54.

If a, b, ¢ are in arithmetic progression and x, y, zare in geometric progression, then

the value of x?=¢yc-aa-b jg.

(A) xyz By O

(C) XAy (D) 1 ) _
Atk g, b, cHEIR AG HE M x, y, z IR AF FE A xPCyC 2D oy,
(A) xyz | (B) 0 |

C) ¥y ‘ (D) 1

If the median of the following data _
'8, 11, 12, 16, 16+x, 20, 25, 30
is 18, then the value of xis : -

(A) 6 (B) 4
. (C) 5 D) 3
8, 11, 12, 16, 16+x, 20, 25, 30
i ARt 18 &, dl X I HA ¥
(A) 6 (B) 4
) 5 (D) 3

55. The following frequency distribution shows weights of 12 students :

Weight (in kg.) 67 70 72 73 75

No. of students 4 3 2 2 1

The mean weight is :

(A) 70-25kg (B) 71-50kg

(C) 71kg (D) 70-75kg

frmafafaa s seq 12 foenfedl & wril ) wefdia @ g— N

9 (frm ) 67 70 72 73 75

ol = W 4 3 2 2 1

e AR |

(A) 70-25 fem . (B) 71-50 ﬁm_ ‘

(C) 71f®m (D) 70-75 e .
A-Set 3/23GRA=page-21 — 191
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56. Mean deviation is least from: .
(A) Mean _ : (B) Mode

(C) Median : (D) Extreme value
e foeer W) HH AT :
(A) WA d ) . (B) wEHA
(C) wnfermt & , (D) I\HHEE
2 2 .
57. |f standard deviation ¢ = \/Z—ﬁ—— —~ (%%dj , then the value of N is :
(A) 35 .
(B) 30
(C) 35

(D) None of these

2 2
g "R Taerer c=\/%d——f[%fg) TANFATY :
(A) 35
(B) 30
(C) 35
(D) T8 | HE 7

58. For a series Zx,? =100, n - 5,and Zx; =20, then the variance is :

(A) 4 (B) 16
©s8 ©) 5
 forelt goft | Zx,-2=100,n=5,?r%‘n Sx; =20 B, AT :
@4 @ 1.
© s e D) 5
1=91 '13/23GRA—page-22 A-Set
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59. Prop roots of Banyan tree are meant for : QIR AN

(A) Providing support to big tree (B) Absorption of water from soil
(C) Retention of watekin soil. (D) Respiration .
RIS ATCHA Al S HFE T : e .

(A) foremer 98 T e 23 = g (B) gt & it Y v X & feg
(C) Wﬁwaﬁﬁmﬁ%fm . (D) va@a & fou

60. Root is distinguishable from stem in :
(A) Havmg a root cap
(B) Having root haifs'i -
(C) Absence of nodes and internodes |
(D) All of these ‘
ST T 9§ 3TCHT UET S §ohal §
(A) T TS HISE B B HR
(B) H& i & ARE A B HROI
(C) ol e woiaferi % swafaf & wwo
(D) '

61. Cystolith is deposit of :

(A) Starch : (B) Calcium carbonate

(C) Calcium bicarbonate . (D) Silica

frefag @ e :

(A) HEH - (B) wfewmw wEiR @

(C) Hfvam aEwEe =i (D) fafae =
62. Woodis: _ , .

(A) Primary xylem =~ ~ (B) Primary phloem

(0] Secondary xylem | (D) Secondary phloem

(A) mufqmam | - (B warﬁmwﬁm

(C) fiew = | - (D) ficfrer welr L
Ao E— e I;SIRBGRA!T n 191

<
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63.

Function of stemis: ,
(A) to bear leaves and branches
(B) conduction of water and minerals
(C) conduction and storage of food
)

(D) All of these.
T & HE % :
(A) ufadi Ta e W UR S
(B) & g @t @il @bl HagT HEAT
(C) Toes T Td @l vaTe sl WUEd e
(D) I =it
64. Endodermis is not differentiated in :
(A) Monocot roots (B) Dicot roots
(C) Monocot stems (D) Dicot stems
ety fadfca 72 ot € - @
(A) Teete G @ wel A (B) feeitersht dell =t wiei A
(C) TehsitsTast el & o o (D) fefiorasi didi = o &
65. “Families of Flowering Plants” is written by : :
(A) Hutchinson | (B) Takhtajan
(C) Cronquist (D) Engler and Prantle
(A) fe gr (B) &N R
(C) g g (D) TTeR iR Yt §RI
66. Standard size of a Herbarium sheet is :
(A) 20x28cm _, (B) 42x28cm
(C) 32x40cm , (D) 35x20cm
AR e 1 A A
(A) 20x28%ft - (B) 42x289H
(C) 32 x40 a4t o (D) 35 x 20 &=t
-91 ~ 13/23GRA—page-24 - A-Set
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67. Photosystem I absorbs light preferentially of the wavelength :

(A) >680nm ‘ (B) <680nm
(C) 680 nm ' -~ (D) 400 nm .
- e 1 e Sacre & yEm At aed & Wy aa@fqaﬁmw% ?
(A) > 680 Fmiex (B) <680 e
(C) 680 *Frfex (D)~ 400 “Frftex -
68. Transpiration is high under :
(A) Dry environment . (B) Low atmospheric préssure
(C) High temperature (D) All of these
SrSqIcEsiA 1Y BT ¥ _
(A) T SRR H (B) 9 § %9 <= |
(C) oiferw arqae # (D) F @it

69. Inisobilateral leaf, the number of stomata are :
(A) More on lower surface
(B) . More on upper surface :
(C) Approximately same on both the surfaces
(D) Absent on both the surfaces
wfsvﬁaw Tof # anm:eﬁ i WA o ¢
(A) frercht TE W ST
(B) <l Hd® R Ay
(C) i Wl W TR qAF
(D) < HeRl W erufeafa

70. Electron donorto PSl is :

. (A) Ferredoxin - (B) FeS centre
- (C) Plastoquinone . (D) Plastocyanin
- FRfTE [ &) SOEH T © .
(A) TR (B) W UThHE HE
(©) TARIFGAT (D) Rt |
A-Set _ 13/23GRA—page-25 | 1-91
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71. Least effective Wavélength of Iight-in-photosynihesis |sz -
o (A) Violet ®) Blue
(C) Green " (D) Red
TR TR w@r A Wla‘mafﬁ T e
@A) Fw 0 - - (B) e
C) | (D) =
72. Which one is most efficient converter of sunlight ?
(A) Sugarcane ' (B) Wheat
(C) Papaya (D) Rice o
o B g 1 Fed TYER e |
(A) =1 - (B)
(C) udtmn (D) =&
73. Substances which originate at the tip of stem and contror growth elsewhere are :
(A) Enzymes (B) Hormones
(C) Vitamins (D) None of these ,
éwﬁ@%ﬁ%ﬁwmw@%%ﬁrq@ﬁﬁﬁmmﬁﬁﬁam% 3%%%%
(A) ST v - (8) e .
(C) farfirw (D) ¥ @ @Ig T
74. The amount of DNA in a metaphase nucleus is :
(A) 1C (B) 2C
(C) 3C w0 (D) 4C
ﬂaﬁﬁmﬁ@r . T ﬁqﬁnzﬁr%
(A) 1 i, - a.93+ gy (B) 2 &t
(C) 3+t . .+ (D) 4
191 2 ~ A-Set
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75,

76.

A species has 2n = 14 chromosomes. Another closely related species has2n=12 >
chromosomes. What will be the chromosome number in'th traploid formed from
these two species ? '

(A) 13 . (B) 24

(C) 28 ‘ ' (D) 26

m@mﬁwaﬁmzn 14%1@%%@3%@%1‘1@@3&@%—12%3?
ﬁ%@wMﬁWﬁmwm7 : o

(A) 13 (B) 24.
(C) 28 (D) 26
Emasculation means : o N ;

(A) Artificial pollination

(B) Removal of anthers before dehiscence
(C) Removal of stigma before fertilization
(D) Pollination between flowers of the plant ™.
FHEROH 1 areqd §

(A) HEEwEY

(B) e q 9B WIS ! fehrer &1

(C) Tor= A wee Afiprr TR HEAT

(D) & = gedi & e T

77. Most of our crop plants are

(A) Autopolyploids "' (B) Haploids

(C) Allopolyploids (D) Heteroploids

TN SR HHA S ¢ ' ' )

(A) sz . (B) ¥wiicsy

(C) udTciwisE | (D) ¥Aelesm
78. Polyploidy is induced by :

(A) GA, VW ~ (B) Colchicine

{C) IAA ' (D) Kinetin ... _ .

(A) foriferes ufre-3 g | ©(B) wifeafad gra o
ASet  13/23GRA—mpuge-27’ T 181
{ .
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79. Senculture is:

"S

(A) . Culture of silk worms . . (B) Culture of honeybees
(C) Culture of ants (D) Culture of termites
AheR FEd ® ¢ , B
(A) WM & FISI & FIET FY . (B) wymfFEd & waHT w
(C) Hifedt % HadA = (D) @ B WA
80. Aninsect helping in pollination is :
(A) Bombyx mori (B) Apis dorsata
(C) Musca nebulo (D) Drosophila me/anogaster
OO § HEg TEAM ol HIST E _
(A)  @iftsErg GRT : (B) ©frw smi'zr 3
(C) &1 Ageil (D) s?zﬁm Ao
81. Animals devoid of respiratory, excretory ard circulatory organs are :
(A) Tapeworms (B) Threadworms
(C) Live Fluke (D) Sponges
memqﬁw~mmrﬁaﬂ% ‘
(A) <gamig - (B) geamiy.
- (C) s Ry (D) ==y
82. Structure common between earthworm and cockroach is :
(A) Cocoon L (B) Dorsal nerve cord
(C) Ventral nerve cord , (D) Ommatidia
S T firerergl @ s e aeee ¥ ‘
(A) i (B v W
(C) frereht d =TS . (D) simcifem

83. In.which of the following animals, blood does not transport oxygen ?

(A) Cockroach 4 - {(B) Frog
(C) Crow _ (D) Tortoise
f § 3 frm sg A W@W@Wﬁ@ﬁ%ﬂﬁﬁﬁﬁtmﬁ ?
(A) foor=e ® G (B) Hew#
(C) #reH R (D) =guH R
1-91 - , - A-Set
J
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- 84. WhICh of the followmg ICAR institute is not situated in Madhya Pradesh (M P)?
(A) Central Inshtute of Agricultural Engineering
(B) NRC on Soyabean. ,
(C) NRC for Weed Science
(D) . NRC for Sorghum
et 8 | i wrdt w5 sTeum (TR, ) S ven wew H R 78 % ?
(A) == e st deum
(B) T QrEri= WW’T -4
(C) T TRIAER ﬁﬁﬁ STTEYH Eﬁa
(D) T SR aﬁaaﬁ' @a’

' 85. The first Agriculturq! 1L_J_niversity‘ of India is :
(A) Punjab Agricultaral University Ludhiana
(B) Jawahar Lal Agricultural University Jabalpur
(C) GB Pant University of Agr-icultﬁre and Technology Pant Nagar
(D) None of these
IR 1 Tgen FHiY favafaem™ @ :
(A) TSI %ﬁs feraferener, NIEEIE]
(B) e et i fa ., SR
(C) = srwerst v i fav ., R
(D) ¥ HR T

86. Yellow Revolution is related to which ?

(A) Food grains (B) Oil seeds
(C) Fishery - (D) Poultry
mmmﬁm% ? e
(A) @S : (B) foeret wuet
(C) w=eiureH v (D) grﬁqm | |
A-Set 13/23GRA-page-29 - I-91
A .
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87.

88.

89.

90.

91.

In India, how much contribute agriculture sector in GDP (In last 2-3 years) ?

(A) 5% (B) 35%

(C) 12-15% (D) 20% -

IR o wer W 9K (GDP) # i o1 drem (s 2-3 o §) fRaw ® ?

(A) 5 wfaer (B) 35ufawm

(C) 12 -15 yfawm (D) 20 wfas/

Which of the following plant nutrient is helpful in the synthesis of oil and amino

acids ?

(A) Calcium (B) Sulphur _
(C) Zinc (D) Boron -
et T § e Gk TR 4ot 9 ST Sl & feior H wgreek g ¥ ?

(A) wHfegam (B) W

(C) f5= (D) =R

Which of the following hormones is also act as weedicide ?

(A 2,4-D (B) NAA

(C) IAA (D) . IBA

1 B TRuTER! S T w I 7 HE A g 2

(A) 2,4-5 (B) TUT

(C) smuT (D) emEdT

The amount of Sulphur in SSP is :

(A) 10.2% | (B) 9.2%

(C) 14.8% (D) 11.8%

e gm wiehe § faraan gfaer Tt 8 § 2

(A) 10.2% (B) 9.2%

(C) 14.8% (D) 11.8%

The right time for turning or covering the crop for preparing green manure is :
(A) Just after germination of crop

(B) Attime of flowering when leaves are juicy and tender

(C) Attime pod and seed formation

(D) After drying of leaves

T T & U w9d Sl e 91 T & 9E e R

(A) 8IS |

(B) HET 3TH S THA el k! Ul hiFet o TSR B

(C) << 98 & well a1 & %

(D) ufwdi & g@ & 9]

I-91 ~ 13/23GRA--page-30 - A=Set
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02,
“(A) P&K

ﬁmﬁawmwmmeﬁv -

Water is a sourcem ;whxch of the followmg rwments 9
| ALE RIS (B) H&O -
(C) N&P R ’ (D) AII of these

A m'wﬁ%ﬁm S (- 3133‘1?;{:[@ o

93.

94.

95,

(C) aﬁamqawreﬁm (D) Awd

'Example of perenﬁnal weed is : g 178 oy T
(A) Kans. = oo (B). Hirankhuri
(© Chenopodlum BTy (D) Argemone

Wmmw% A I S
©) T L (D) v

Which of the followmg crop needs lesser wngahon/water ?

(A) Wheat' R o (B) Gram

(C) Sugarcane " (D) Potato
ﬁwﬁ@ﬁmwaﬁmﬁﬁaﬂm@ﬁ% ?

-(A)-_.ﬁ? R P S

Sorghum belpngs to WhICh famlly ?.

8 Brecicacese - (B) Liaceae
(C)  Palmae L (D) Gramineae/Poaceae

waﬁa@mmw%7 AT 4 R
(A)aﬁ:l%@r - (B) fafwE

- (C) . s ', i '-(D:)v.[v frﬁﬂ)f@m”r e,

96. v
- (A)- QOil Seeds % N By Pulses

TS fRas 'cﬁa) aﬁ mrﬁa Eb“ﬁ % faq

Rhizobium is S used: for treatmg the seeds of o

(C) Grains (D) _Fibre crops
ﬁaxrar% 24

(A) Tt wad e e, (B)i-?ﬁﬁwﬁ
€ vmaeted . (D) wmm

"A-Set R 13/236m—pagé-31
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97. Which of the following is a suitable example of intercropping ?

(A) Maize + Blackgram (B) Cotton + Maize
(C) Rice + Greengram (D) Chilli + Cowpea
=R % (Intercropping) 1 fe1 # | ST 396 ST ¥ ?

(A) =T + 387 . - (B) &Y+ HFRI

(C) =m&a + - (D) fad + <aen

98. Finger leaf deformity in cotton is caused due to residual effect of which chemical ?

(A) Fluchloralin (B) Oxyflourfen

(C) 2,4-D | (D) ‘Isoproturon

HU TR T FR BY TR @ TSI B FE e 2

(A) FeEER - (B) st

C) 2,4 | (D) SR
99. The length of metre chain is : ‘ o

(A) 10 metres (B) 66feet

(C) 30 metres _ (D) 100 feet

(A) 10 HieX (B) 66 wic

(C) 30 #i= (D) 100 He
100. The total links in revenue chain are :

(A) 10 (B) 20

(C) 15 | (D) 16

[ 97 ¥ wiegd it g et |

(A) 10 (B) 20

(C) 15 (D) 16

101. Which one of the following herbicide is used for controlllng Falar/s minor in wheat

crop ?
(A) Butachlor | (B) Isoproturon
(C) 2,4-D ' : (D) All of these
ﬁﬂﬁﬁﬁwwwﬁﬁi@ @@ﬁwm%ﬁwwﬁwiﬁm% ?
(A) IR . - (B) TR
(C) 2,4-D ) (D) 3 wft
-9t T 13/ 23GI§A%bager~3_2 5w A-Set
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102. The sowing time of Soyabean is :

(A) “June-July L (B) March—April-
€).. January—Februa[y.f\- (D) October—November
BIRIEIEE 3131? ¥
(A) ~I-SeTR | (B) -3
(C) wal-wad | (D) STEFRER-Ta=R

103. Tikka disease is related to which crop ?
(A) Carrot (B) Greengram
(C) Groundnut ' (D) Sugarcane
fearent 1 forg weel © mﬁ% g2
(A) TR - (B)
(C) et . (D) =
- 104. For transplanting one hectare area of paddy how much area is sufficient for raising

nursery by ‘Dapog method’ ? ,
(A) 20=30m° ~ (B) 50-60 2
(C) 100-150 m® | (D) 175-200 m® |
19 St Teh o2 & F YuE ¥ “srarT faf’ gry =8 91 o1 Fean srwer =few ?
(A) 20-30 TiHey (B) 50-60 aiHiex
(C) 100-150 arfHex (D) 175-200 &t

105. Lime is used for reclamatlon of which type of soils ?

(A) Acidic (B) Sodic
(C) Neutral (D) Saline
T foRE YRR T T GURA & HH AT € 2
(A) eT=ita (B) st
(C) |mi (D) wETiA
106. Parasitoide for blologlcal control is : -
(A) Trichogramma N (B) Trichoderma
(C) Chrysoperla (D) Coccinella species
%“ff‘amﬁqm%@qwﬁa"rﬁz%
(A) grwEmEr o (B) zEwIsTH
(C) HTEHITA - (D) merwwm
A-Set i 13/23GRA—page-33 I-91
i ' N
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107. Deep ploughing in groundnut field should not be done because it :
(A) Delay harvestlng ey (B) Reduces germination
(C) Makes harvesting difficult
et o B Tt A T et e, Hin T
(A) weEdERdE (B) sEIFATN
(C) e # wwem o (D) < 1 s FE B

(D) Increases ;ermntes lnfestatlon

108. ‘Karnal bunt' is a disease of which crop ?

(A) Maize L (B) Wheat

(C) Rice (D) Potato, ...

‘T I R TEe @ S S 2 '

A B -
(C) == (D) @
g al o
109. The fruit of mustard is known as : T

(A) Pod R (B) Siliqua

(C) Berry o (D) Rhizome.

SR

(A) trs | (B) fafeasmen

(C) = - (D) ESiH
110. Oil content in grodndnut s o

(A) 10-20% o (B) 20~30%

(C) 15-25% . (D) 40-50%

(A) 10-20 Wi (B) 20~30 whew

(C) 15-25 yfavma (D). 40-50 wfasra
111. The main guard of World Trade is :

(A) World Bank 3 ;e (B) International, Flnance Orgamzatlon

(C) GATT ' ) (D) Noneofthese AT

AR,

W FreEdw L (®) sdmEmAm
0. ﬁz(GATT) e, O) TEEEE ﬂ
1-91 13/23t;RA-page-34 A-Set |
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112, The period for long- term loan is : . _ ,
(A) 1year - | (B) 2years

(C) 5years i (D) More than 5 years
(A) 13 . (B) 27
(C) 5o o (D) 5 98 § st
113. Bronzing in guava is assocnated with deflc:ency of :
(A) Zinc _ (B) Manganese
(C) Magnesium o (D) Copper
see A e T F A A dmY 2
A fF (B FENw
(C) Fferm o (D) dfer -
114. Which of the following is hybnd of Mango ? '
(A) Dasheri - | (B) Malika
(C) Neelam e (D) Langra
fr # @ o doR R R R
(A Tl L - (B) e
(©) Hem S (D)
115. Vanety of onion is most suitable for Kharif sowing in Northern India :
(A) N-53 . N - (B) PusaRatnar
(C) Hisar-2 (D) PatnaRed
I WA & A ﬁﬁmﬁaﬁﬁﬁmﬁa@mm%
(A) w53 | (B) TR
(C) fewr-2 (D) =Tt
116. Seed rate of hybrid tomato is : ! )
(A) 75-100 g/ha ~ (B) 150-200 g/ha
(C) 250-350g/ha (D) 400-450g/ha -
dR R M R g R
(A) 75-100 TM/ART| (B) 150200 o/ ¥R
(C) 250-350 um/%a%m (D) 400450 T/ R kN
A-Set — -13/236RA-page-35 1=
\; L
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The plant nutrient improves quality of fruitis :

117. -
(A) Nitrogen _ ' (B) Phosphorus
(C) Potash | (D) Zinc
(A) T . (B) weR®
(C) hera - D &
118. Browning of cauliflower is due to the deficiency of :
(A) Zn (8) B
(C) Mo (D) Cu
et # e (sefi) fraet w A d@ d 2
A f&w B)
(C) wifcrsg™ ‘ (D) W
119. Which of the following plants is propagated through cutting ?
(A) Rose . ' (B) Grapes
(C) Fig | (D) All of these
1 3 | w9 9 1 g we R R S R 2
(A) T (B) ¥
(C) 3R | (D) A=t
120. Puffiness is a physiological disorder of which vegetable ?
(A) Carrot (B) Brinjal
C) Oka . (D) Tomato
T o Tt § ek RER E 2 |
(A) TR | (B)
(C) fisit (D) ==X
121. Cooraghoneydew is a variety of :
(A) Papaya T - (B) Guava
(C) Mango ’ (D) Mandarin
??hﬁﬁfiuﬁ3ﬁﬁﬁi%kn B A :
(A) wimw ~ (B) eHES @
(C) 3 #t | © (D) wwE
13/23GRA—page-36 A-Set
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122. Which one of the following is. sultable .8ystem of lrngatlng foI't plants under limited-

watersupply ? =~ oo
(A) Flood system | (B) Basin system

"~ (C) Ring basin system | (D) Pltcher system
meaﬁﬁuﬁﬁﬁmﬁﬁmﬁmﬁfumq&ﬁﬁﬁmm% ?
(A) vtz fo= fafy (B) eren fafy
(C) e aem fafy | - (D) wemfafy .o

123. Banana belongs to which family ?

(A) Anacardiaceae _ | (B) _Caricaseas—
(C) Musaceae | . (D) Rutaceae
e o el B ST R 2

(C) . (D) =

124. Which crop is affected by Tristeza virus ?

(A) Banana AT (B) Apple.
(C) Citrus fruits (D) Mango
eredem AT & e e e ¥ 2 9 B
(A) e T ®)

125. Which of the two flowers are of not white colour ? |
(A) Pansyand Linum | ®) Hollyhook and Sweet Pea . . -
(C) Asterand Clarkia ¢~ . -~ . (D) Cosmos and Chrysanthemum . -
i 119 Qe T TR R
A e ®) wehem iz
(C) TR T FAhA o (D) aﬁmam

A-Set T e ———— T
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126. Which one of the following is not a suitable fruit for Jelly making ?

(A) Papaya (B) Wood apple
. (C) Guava (D) Mango

e 11 2 e e e (Seft) ST 9 o SR T ¥ 2

(A) Wi . (B) wm

(C) =& (D) ™

127. Which one of the following is not a physical method of food preservation ?

(A) Refrigeration .

(C) Fermentation

(B) Freezing
(D) Sterilization

frefafeon # & S e yHweR S B Gty 7w § 2 0

(A) e
(C) fwvad

128. Pusa Majesty is a variety of ;

(A) Mango

(C) Papaya

T A O IS €
(A) & H

(C)

(B) 3Taviiae
(D) freienTor

(B) Guava

(D) None of these |
(B) &R

(D) ™ § =i T

129. Which one of the following can be used for judging the end point of Jam ?

(A) Sheettest

(C) Temperature test

(B) TSS test
(D) All of these

Ww(ﬁﬂ)waﬁmﬁﬁmmﬁﬁmﬁmﬁammﬁmmm% 2 -

(A) sfte wleo (B) =W goreiia uqref g
(C) WWW (D) 3 woft
I-91\ " T 13/23GRA—'page—38* | " A-Set
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130. The amount of juicediiisquash is : -

(A) 55% (B) 60%
(C) 25% o (D) 40%
FWA R A AR S &

(A) 55wfmem © (B) 60 wfirema
(C) 25vwfwm I (D) 40 wfer

131. Which of the followingttees is not associated with Lord Buddha ?

(A) Neem W% : (B) Ashok
(©) Pipal (D) Banyan
e 2 2 B S TET 98 @ 991 &9 76 & 2

(A) = (B) wwiw

(C) Wua (D) Wt

132 Ranking of India in fruit and vegetable production is :

(A) First (B) Second
(C) Third Lt (D) Fourth
YR T HeT TE Fooil Scaed H ®H © ¢ .
(A) ween - (B) T
(C) s (D) <em

133. Number of Agricultural Universities in Madhya Pradesh

(A) One ~n S (B) Two
(C) Three ) Four
wer wiw i R i feafrer 7 0
A T ) SRR @
G} - '. (O =W
A-Set "18/23GRA-page-39 197
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134. For getting maximum production from Indian livestock, biotechnology should be used

135.

in the field of
(A) Animal Nutrition
(C) Reproduction

(B)
(D)

Genetics
All of these

AT IRl @ AT S W FA T S grenfient 1 St fRR & | e s

Qe ?
(A) T HIwo
(C) ws=H

The region between 2 horns of cow is called :

(A) Jowl

(C) Muzzle

T & < T S A R Y
(A) =9

- (©)

' 136.

137.

True stomach of cattle is called :
(A) Abomasum

(C) Rumen

T ygatt 1 aRafas U2 §

(A) =ge AR (TEESE)

(C) Worm HIT (TH)

Bulbourethral gland is also known as :

(A) Prostate gland

(B)
(D)

(B)
(D)

(D)

(B)
(D)

(B)

Poll
Crest of head

g

R o forer

Omasum

Reticulum

T SR ((STHSH)
it s (M)

Seminal vesicle

SSRGS TN St -

(C) Cowper gland (D) None of these
eeaRere Pt ot e A ¥ -
(A) IR Tfy (B) HRM
(O) FET ' (0) wEARE
I-91 13/236RA~page-40 A-Set
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138. Mammary glands arg modification of which of the following glands .
(A) Sebaceous
(B) Sweat
(C) Oil .
(D) None of these = . :
wﬁwﬁwﬁéﬁﬁuﬁﬁtmw% ?

(A) TEHYg -
(B) =&
(C) =
D) 7 q ®¥E el
139. Which of the following is crossbred cow ?
(A) Ayreshire (B) Khillari
(C) Kenkatha : (D) Karan Fries
frAdd st eIy :
(Ay = . 7 (B) feaowi
(C) Fwen (D) =T WES

140. Copper colored'body is characteristics of which buffalo breed ?

(A) Bhadawari- . ‘ (B) Jaffarabadi 1
(C) Nagpuri . ' (D) Surti : | ¥
Yow fre T TR T T mmME 2 |
(A) T (B) ST
(C) T - (D)
141. The biggest breed of goat in Indiais :
(A) Barbari D (B) Beetal
(C) Black Bengal - & (D) Jamunapari
IR H THA 1 ToH TG TR B :
(A IR ‘ (B) diew
(C) et e (D) v
A-Set -~ 13/23GRA—page-1 I-91
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142. Gestation period of buffaloes is :

(A) 8 months 8 days (B) 9"hionths'-9'fd‘ays
(C) 10months 10days - (D) 11months'11 days
¥t w7 TefoRTer ST R | - S

(A) 8wE8 R | ®) 9megfm

©) towetoka O tmenR

143. Productive life of sheep is :

(A) 3years | (B) 5vyears
(C) 7years | (D) 9years
ﬁgaﬁaam¥53W3%: |

(A) 3o (B) 5ud

(C) 7sd (D) g=d

144. In commercial dairy farms weaning should be prac"tise-d' : 1

(A) Justafter birth - (B) 80days.after birth

(C) 3 weeks after birth | (D) 3 month_s ‘after birth .
e 2w § ww H A () A eI § e e a2
(A) ¥ T IR (B) v & 30 KA 9=

(C) 9= 3 T xR 15 (D) S 3 HE 9%

145. To evolve a pureline in an animal which is the breeding method to be used ?

(A) Criss crossing : (B) QOut crossing

(C) Inbreeding. (D) None of these R

g & Y T o 0 Ferew T Y o T el ger fafyy etont wfed 2

(A) T, Tt a (B) wfe: gt

(C) o W | (@) vEIWEE o
o T 13/236RA-page-a2 ~ A-Set
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146. Aecording to law of dominance :
(A) Characters ar_e(:controiled by factors
(B) Factors oceyr;in pairs
(C) Both (A) and (B)
(D) None of these ...
el o M & SR -
(A) e e g e 8 §
(B) wew i H W
©) (A) @ (B) B
(D) 3@ q wIg T

147. Eﬁxcnency of selectlon is h|gh in:
(A) Index method -
(B) Independent culling Ievel selectlon
(C) Tandem selection
(D) Al have same
0T kT &I ST zﬁa‘r %
(A) e a3
(B) o Frewem ww fafy o
(C) Zvew fafy (3133?543»‘ ﬁaﬁz) -]
(D) witdwm

148. BUIIocks of which of the following breed of cattle are famous for Sawaichal ?

(A) Nimari B (B) Kankrej

(C) Malwn R - (D) Rathi
mﬁamﬁmmé%w@m%mm% 75

W fet o (B) W S
(C) wrereh SR - O :

“A-Set ' 513/23GRA:-page-43 / I 271
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149. In commercial dairy farming following arrangement’ of cows in shed should be

preferred :

(A) Single. row (B) Double row face to face system
(C) Double row tail to tail system (D) Any one of these

S SA wH H M w1 oS ° e few atg g efed 2

(A) T df - (B) <t Ul ifugw woeht

(C) <t ufer wifug=s yomedt (D) T & FE H

150. In hotter parts of country long axis of animal house should run :

(A) EasttoWest (B) North to South
(C) Southto East (D) North to East
WS TH AR H Y] ST T S ST B D

(A) & e (B) ¥ =fam
(C) =faur & g (D) SWETE -

151. First few streams of milk should not be mixed with rest of milk because :

(A) It contains dust and dirt (B) It contains highest no. of bacteria
(C) 1tis highin temperature (D) Itcontains off flavour

T F1 UEEl TEH B 99 gL gH | fHer 6 =ifed it

(A) TEH yo TE T B § ' (B) & walfus dem o Srany 81 €
(C) w1 araw 31fe & ® (D) = g Bt @ )

152. The ideal interval between 2 milkings should be : ‘
(A) 9 hours (B) 10 hours

(C) 12 hours (D) 15 hours
3 g S B A ST SRR B A .
(A) 9w (B) 10 =w2
(©) 12w (D) 15 wm |
I-91 B 13/23GRA—page-44 ~ A-Set
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153. Milk is deficient in-which vitamin ?

(A) Vitamin A \ (B) Vitamin B,
(C) Vitamin B, | | (D) Vitamin C

gy | forg foerfam &1 et St ® 2

(A) frerf T (B) faaiftm =i-1
(C) faerfim -2 (D) faarfie

154. Viscosity of milk is due to which constituent ?

(A) Albumin : (B) Globulin

(C) Casein (D) Phospholipid
Y H Il hY WeH B HRO A ¥ ?

(A) Tesgfe | (B) verefe

(C) &ER (D) wremifafrs

155. The following change is found in mastitis affected cow’s milk :
(A) Reduction in fat ‘
(B) Reduction in solids not fat
(C) Increase in chloride content
(D) Allof these
ot A R/ T T gu H e e arn S g
(A) =G | wet
(B) = e S | wHet
(C) wFRTEE &t Afuswal
(D) A=t

156. Specific gravity of milk is lowered by :

(A) Addition of water (B) Addition of cream
(C) Both (A) & (B) (D) None of these
gy =1 faftre 57 (Fd) FA M ¢ |
(A) R frem @ . (B) ®m firem ¥
(C) =i (AT (B)F (D) T & =i &
A-Set 13/23GRA—page-45 - I-91
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157. The pH of fresh cow milk varies from : N i A

(A) 52-54 | (B) 58-6-0

(C) 64-6-6 . (D) 70-72

A & S gY o1 0-T. B

(A) 52-54 B B) 58-60
(C) 6-4-66 o (D) 7:0-7-2

158. The most common Kharif fodder among non-leguminous fodders is :

(A) Barley (B) Jowar :: o - -
(C) Oat ' (D) Wheat

ITETEA IRI B Halifier gafe S o 9l ©

(A) st B) =
(C) =% : (D) &

159. Concentrates are those livestock feeds which contain :
- (A) less than 18% crude fibre r i* ..
(B) more than 60% TDN
(C) Both (A) and (B)
(D) more than 18% crude protein
% SR 9 9Y] RN § for 3 €
(A) 18 e | 4 e W
(B) 60 ufter & atfien e I uiveh v
(C) (A) 7 (B) <
(D) 18 wfaera § s1fusm el LICE

160. The pH of best quality silage is :

(A) 32-36 (B) 38-42

(C) 42-4-6 (D) 46-50

T 93 T[T ATl WIgerst 1 W-Tw. S ® R

(A) 32-36 - (B) 3-8—4-2

(C) 42-4-6

T e — — —

I-91
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161. Forevery 2 kg. milk produced by the buffalo, the amount of concentrate given should

be:

(A) 075kg . (B) 1-00kg

(C) 1-25kg - (D) 0-50kg -

Wﬁﬁamwmﬁmmﬁmﬁwm

(A) 0-75 fem ‘ | (B) 1-00 f&m

(C) 1-25FfFm N | (D) 0-50 fwm
162. Number of temporary teeth in cow is:

(A) 16 o (B) 28

C) 32 (D) 20

T 3 sreerY <id 1 e 'é?ﬁ % :

(A) 16 o (B) 28

(C) 32 - (D) 20

163. If the number of ring_é oh’.ho'r_n of cow are 5, what will be the approximate 'age of cow ?

(A) 5years - (B) 6years =
(C) 7years ' (D) 8years
Hﬁm%ﬁnmswﬁ%ﬁmﬁmmwmm 2.4
(A) 5o . (B) 67

(C) 7ad | (D) 8aY

164. Characteristics of good cow :

(A) Angular form :
(B) Well developed and well placed udder and teats
(C) Large size - ' '
(D) Al of these
3T M H AT :

(A) HTHF T

) QT T R W o T o

(C) =g AFR =
(D) ﬁwﬁ

ABet  13/2GRApages7 1Ol
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165, Modern cream separators cream isﬁéeparate‘d:by .
(A) Centrifugal force
(B) Gravity
(C) Both (A) and (B) R
(D) None of tﬁese »
SMYFTH FT JHFHTO I F H ST B R
(A) =TT 9 9
(B) TEEH
(C) (A) W (B)ari
(D) = & K &

166, Which of tha fallowing is demerit of modern metal butter churns ?

(A) Difficult to clean (B) Steam sterilization not possible

(C) wa heat ins’ulaﬁné capacity V(ID) | Moisture and salt control inaccurate
STyfie g o TR W S i P e A

(A) 9 FA H Hfes ‘ (B) - W § 1 :umHw wyg T8

(C) =9 SR arHar (D) i wa T W e wEd T

167. Bulk of ghee in Rural condition is produced by :

(A) Creamery butter method

(B) Desi method

(C) Direct cream method

(D) None of these

T giEeT | SR oY S S e

(A) HHgE 9T 9

(B) cxitfafya

(C) fammA

(D) AR o e

I-91 13/236RA—page=48 'A-Set
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168. Which of the following milk cream is churned to butter easily ?

(A) Buffalo milk cream ' (B) Cow milk cream

(C) She-goat milk cream (D) She-camel milk cream |
et 3 @ for qu i W & e et @ e ¥ 2

(A) Fadguwwy ' (B) T ® gy HI HIW

©C) s B EE (D) =it = g FrFm

169. Normal body temperature of cow is :

(A) 38:0-39-3°C o (B) 38:8-39-6°C
(C) 35-2-35-8°C (D) 40-6-41-3°C
T T W IR A9HH B ©

(A) 38:0-39:3°F. | (B) 38:8-39-6°%.

(C) 352-35-8°d (D) 40-6-41-3°%.

170. Lameness, high fever and swelling over shoulders and thighs are symptoms of which

disease ? _ y
(A) * Anthrax - (B) Black Quarter

(C) Foot and mouth disease (D) Haemorrhagic septicemia
TSI, O Y@K 4T FHHl Td e W gor e SRl & g g ?

(A) et dm (B) =H® FE .

(C) r=1-Heweht 1 (D) ety

171. Which of the following diseases is known as cattle plague .?

" (A) Anthrax - (B) Foot and Mouth Disease
(C) Rinderpest % (D) Piroplasmosis
Faddfrg v s o @y ? . | (o,
(A) fredtam (B) rTehT-HeETeh! I L
(C) g (O) TRwAREE -
'A-Set “13723GRA=-page-49 =
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172. For the prevention of which of the following diseases, oil adjuvant vaccine is given ?
(A) Anthrax ot -
(B) Black Quarter o
(C) Haemorrhagic septicemia ‘
(D) All of these
e & 9 forg 1 & STt R TS TS okt ST ST R,
(A) Tt am
© s T
(D) 3wt |

173. Moisture content in milk powder should not be more than :
(A) 5 percent

(B) 8 percent

(C) 10percent

(D) 12percent . - /

TE o A TR Y Aen A 9 eifeen T St =@t

(A) 5 gfaem ' |

(B) 8hwE /

(C) 10 faer o

(D) 12 yfwem /
174. Scientific poultry keeping in India was initiated by‘::;,‘;,‘,

(A) Chrstans . (B) Hindus o

(C) Muslims D sikhs R

Wﬁmmﬁwﬁwﬁmmaﬁﬁ AR

(A) sumEdEi gra CLe w8 %ﬁaﬁm I

(C) goewmigm S (D) et grr T
o T 13/23GRA—page5p  A-Set
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175. Major constraints of géultry farming in India are :
(A) Non-availability of quality chicks
(B) Shortage of quality feed
(C) Unorganized marketing
(D) Allofthese
e e e st ¥ -
(A) T8t T =T <SH Y SRgaers
(B) TG SR i HH!
(C) wmfea foavm &1 s
(D) Awft

176. Cornish breed of chicken is : | ;
(A) Eggtype | W S k

(B) Meattype ;
(C) Dual purpose ¢
(D) Used for entertainment | , e |
ffd = T oI o
(B) TG <7 A | Coa u
C) fewstt s
(D) it ¥ 3w :

177. Optimum weight of chicken egg, to be used for hatching Should be :
(A) 40-45¢ B! . (B) 45-50g - ,
(C) 50-85g D) 55-60g
(A) 40-457m Ry @) 45-50mm R
©) so-ssmw T (@) sseoww [V 7

A-Set T 13/23GRA~page-51 101
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178. For proper ventilation in open sided poultry'hodsestﬁé* width of house should not
exceed :

(A) 6 metres
(B) 9 metres
(C) 12 metres
(D) 15 metres

qﬁq'lmaﬁﬁwdmﬁﬁﬁw(ﬁﬁm)%@Mﬁiﬁ’ﬁﬁﬂ@ﬁwqﬁiﬁﬂ
o

A) 6=

(B 9%= |

(©) 127 v

(D) 15 e

179. Layer chicks are of the age :
(A) 0-3 weeks
(B) 0-6 weeks
(C) 0-4 weeks
(D) 0-8 weeks
AR TS T g H e € 2 !
(A) 0-3FwmETH |
(B) 0-6FETE .. .
(C) 04 T=e T
(D) 0-8 ¥iE T

180. Crude protein requrrement of brouler finisher as compared to broiler starter is :

(A) More = i - (B) Less - .
(C) Same (D) More or less as per the weather
Ww@zaﬁwﬁmﬁﬁﬁmﬁmmﬁméﬁ%
(A) ~awT | . (B) =H rE
(C) =R (D) ﬁw%mmm‘ﬂm
1-91 13/ eaGRA-page-§2 -A-Set |
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181. Bacillary white diarrhoea in poultry is caused by :

(A) Bacteria
(B) Coccidia
(C) Mycoplasma

. (D) Virus.
wfifdi # e Twr @ A mm i % ?
(A) iy
(B) wiedifea
(C) wrhrens
(D) fammy

182. Caecal Coccidiosis in poultry is caused by :
(A) Eimeria tenella :
(B) Mycoplasma gallinarum
(C) Toxoplasma
(D) Mycoplasma synoviae

FFhe A i whrifsatay fred ot ¥ 2

(A) sl e | ) - | e ,
(B) e defm : o~ L et s, E
(C) e . | b b r
(D) TTEHITISE WAt ' - o c

183. Wet litter in poultry shed should be replaced by dry litter to prevent

(A) Caking

(B) Ammonical odour

(C) Disease occurrence

(D) Allof these ' :
%ﬁﬁm@m@%ﬁﬁwﬁq@%@mﬁm%ﬂﬂ%ﬁ

W) FemEETEEm - |

(C) i s am S | .

(D) ‘amﬂ SRS R

ASet | 13/23GRApmgess @91
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184.

185.

186.

A block weights 15 N in air, 12N |n water and 13 Ni |n another fliquid, then relative
density of liquid is :

(A) 82 _ B) 5
(C) 2/3 | (D) 1/5
9T 3 T e AR 15 < 8, et 12 = a9 T S 53 H A3 AR, aaaaamawrﬁf&m
T ©
(A) 8/2 -~ (B) 5.
(C) 2/3 . (D 15
This is not an unit of pressure : ‘_
A _Torr | ~ (B) Pascal
(C) Newton metre™ ., (D) Bar
(A) R - (B) u=w&
(C) =gzr+° | (D) =®
A liquid takes 5 minutes in cooling from 80°C to 50°C. {ftemperature of the sorroundings
is 20°C, then how long will it take in coolmg from 60°C to 30°C ?
(A) 5 minutes : | (B) 7 minutes
(C) 6minutes - (D) 9minutes

@ %9 % 80°C @ 50°C 7% 2ve1 81 5 firfe o §1 aft 9RAW %1 a9 20°C ¥, 9 58 60°C
ﬂ30°0wm@%ﬁmwaﬂm ?

(A) 5t g - (B) 7fre
(C) 6fF= (D) 9 fawe
187. If normal force on a block kept on a rough plane is in¢reased to four times, then force §
of friction will be : '
(A) fourtimes - . ' (B) one-fourth
(© half a ~ (D) unaffected
ﬁ%@qﬁmw@@mmwmwmmmﬁwwwmmm
(A) TR T , : - (B) W=E .
© s D) Py
I-91 ) | 13/23GRA—page-54 A~Set |
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188 A car ss mcvmg on: amonzontal road wnh a speed-of 125 m/s.on a circular.path of
v, radlus 20 m. For the ‘motion of the car without shppmg, the value of coefficient of
~friction wm be :

(A) 08 | AU (B) 8:0

(© s - (D) 008

f@m éﬁammzonﬁaﬁmmﬁmwm 12- srﬁ/ﬁ ﬁw@w@%rmﬁ

| ﬁamﬁmevm—g%ﬁw mmm‘«riﬁm

190.

~(A) 08 - o (B) 80
'(C) 80 S “ (D) 008

- 189. The unit of g/G ISI - |
AT (A) kg/m }. l | o | (B) kg/m?
(C) mZkg T T (D) kgm?

YGT TR & | B R
A s 0 ETT T (B) fem/e \
(C) ﬁt?/m. ' l o (D) 2 o
lf the radius of the eanh were 10 -shrirk- by 1%, its mass: remammg fthe same the
acceleration due t? gravnty‘ an the earth’s surface would :: B

(A) decrease . LI E (B) remain unchanged SRRl
(C) increase | gt (D) nothing can be said g
?I!‘Eqs’zﬁﬁﬁ—qr1%m?ﬂﬁ WWWE@@@E@W“WW
oA R R (B) =i W - y
- © aﬁm Cps (D) a@?@"imwm

. Both ends of rods A andB of same length are at constant fixed temperatures 0, and 0,

For same rate of heat conductlon in both rods, the conditipn.willbe : .« . s, 2,
(A) KA, =KA, 1 (B KA =K2A, .o
- (C). KA KA " s i (D) KA2.KA2, Wt A TR
a‘twmﬁzy@mﬁﬂa%ﬁmﬁm TR T 0, T 6, m%lw@ﬁmmﬁ
. WQT’%WWM ToorgTUTER CE W g nd ':
(A KA, = : | ‘® K 2A K22A | ,\
© K A K A e T (D) K1A12—K2A22 |

PR o - d T S B
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192. For a prism angle of minimum deviation is 30° and angle of.prismis 60°. The refractive
index of the material of prism is :

A 2 | B 2

e | 3
(C) > (D) 2
s o0 w7 sreuan faee w0 30° a1 fosa w1 60° ¥ 1w & yared &1 sTvadaie §
(A) 2 B) 2
e 3
(C) - (D) 72

193. Latent heat of ice is 80 kilo-calorie/kg the quantity of heat required in melting 10 gram

oficeis:
(A) 80 kilo-calorie _ (B) 80 kilo-calorie
(C) 0-8 kilo-calorie | (D) 0-08 kilo-calorie

o o e o R 80 orl-abel/ e , B 10 T e it & o7 2 et o 4t |
(A) 80 fren-Hemt - (B) 8-0 fren-eidy
(C) 0-8 fren-a (D) 0-08 fwal-Ser

194. The refractive indices of the material of a lens made of crown glass, for the lights of }
' violet, red-and yellow colour are 1 -521 , 1-510 and 1-517 respectively; then dispersive |
power of the material of lens is : 4
(A) 0-021 (B) 0031
(C) 0-008 (D) 0013
FTS e A B T B ST S, e @ e T @ weTe @ e s 1-521, 1:510
7 1-517 8, o & ward ) ol frd e ¥ ‘

(A) 0-021 . (B) 0-031
(C) 0-008 | | © (D) 0013
1-91 ~ 13/23GRA—page-56 ... A-Set]
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195. A terrestrial telescope has- magnlfymg power 10 and focal length of its eyepiece is.-
20 cm. The focal Iength of the. ob;ectlve w:ll be: :

(A) 2cm o (B) 200cm

(C) 1/2cm (D) 1/200cm
A @@&eﬁag@ﬁaﬁmﬁammmﬁﬁmﬁﬁmqﬁzoﬁ%mﬁ@waﬁm
U .

(A) 2¥h AR (B) 200 45

(© 12d% o (D) 1/200 ¥ -

196. If diameter of the aperture of photographic camera is dand focal length of its lens is £,
the opening time of its shutter t will be proportional to :

f2 f
(A) 7 B 3
d d?
(C) 7 (D) s
w&qﬁz\wﬁ%m%mwmdwhaﬁmgﬁfﬁ ﬁw%@%wwtm
Wﬁl"ﬂ:
o f2 f
(A) :F (B) 7 |
d P j
(C) 7 (D) f_—g

§ 197.An electrrc iron’ s heatmg element dlss:pates 480 watton 240 voIt malns supply Its
resistance is :

A) 240Q .  (B) 480Q
C) 60Q f N\ (D) 120Q
@ﬁﬁﬁaﬁsﬁ%aﬁnﬁmmmamaﬁﬁﬁwmmmommmm%l
WA w g .
(A) 240 shwr | . (B) 480 3w
(C) 60 =i | . (D) 120
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- 198.

199.

200.

When a bar-magnet of magnetic:moment M s defleé¢ted by an angle 6 in a uniform
magnetic field of magnetic induction B, then.work done in this process is :

(A) MB . (B) MBcos®

(C) MBsin®6 ‘ (D) MB (1-cos6)

& TH MWWW%—W@WMWBmW éaﬁe@w@
A da e, AWM A d P wE ¥

(A) MB _ (B) MBcoso

(C) MBsin®© (D) MB (1.—cos6)

At any place angle of dip is 60°. If H is horizontal component of earth’s magnetic field,
then intensity of total magnetic field will be :

. | H
A 5 ® 7
(©) 5—2‘/: (D) 2H

@WW?&WG&%‘W&E@%%W & %ﬁamH% A gegul g & R
GIECRRP

H H
® 3 ® 7
©) 52£ ©) 2H

There is a fixed potential difference between the two ends of potentiometer. Two cells
are connected in series in this way that in one arrangement they help each other and
in other they oppose each other. These arrangements get balanced on potentiometer
wire at 120 cm and 60 cm lengths respectively. The ratio of e.m.fs. of the cells is :

(A) 2:1 od - ~ (B) 3:1
©) 1:1 (D) 4:1
fovemrdt & S Rl & <t o fftera favar @) S Bt Sioftern 3 50 TR I SR R O
ey # Sl TH-GER T TEIT w0 § a9 R Saed H Uw-g w1 iy % §1 59 S
1 FEH favamTdt @ aR W HER: 120 At ae 60 I H e W G &1 I Qe @ .

Sl T ST T :
- (A) 2:1 ~ (B) 3:1
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INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)
Method of Marking Answers :

To answer a question, please darken one circle
out of the given four, in the OMR Answer Sheet
against that question.

Valuation Procedure :

There are four probable answers to a question,
only one of them is correct. One mark will be
awarded for each correct answer. If more than
one circle are darkened for a question, it will
be presumed that the candidate does not know
the correct answer, hence, no mark shall be
awarded. '

Cancellation or Change in Answer :

It will not be possible to change the marked
circle with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on OMR Answer Sheet.

Handing over of Answer Sheet to

Invigilator :

(i) Please ensure that all entries in the answer
sheet are filled up properly i.e. Name, Roll
No., Signatures, Question Booklet No. etc.

(i) CANDIDATES ARE PERMITTED TO

CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE

EXAMINATION.
Care in Handling the Answer Sheet ;-

While using answer sheet adequate care should
be taken not to tear or spoil due to folds or

wrinkles.

(qmﬁr Black ball-point 4 T W& &)
I A T o ' | :
IW I & fT OMR FR-Yfere & wraf-ard wed &
o | A T 9K W # & a1 TF T S
I I |
Yeaich UG : N
T WY B T e 3, 3 e T S
T ¥ 1 AT T G IR ST HA A T 5 T
A1 Al T | ifee et w1 foed R E @ agar
S 3 wrdteedt <Y we T e I A R ¥ o
T R i T e ST
T W PR o O sge
SR A FaFA S s aSaTI R
T <h RIS S T 8 31 IH
THeN WA & & el I H 99 QEyEgdeE St
IA-YiiE dteten @ divAr
@) Eﬁwaﬁw—?ﬂzﬁﬁa‘»mgﬁﬁaﬁmﬁ
&5 S & I 73 W gfeiat Sf—am,
- T TR, TENAR, TYA-Ge TR e
ﬁuﬁﬂwﬁmaa#—é\awinﬁl
(if) TrRYSIT ST GG SRt WPT- TRt 31U WY
EEEEIE GRS
IT-YiE & IqT o W
FTR-YE 1 TER FW T I TE § WEauE 1 |
7 B, ey W eEe Ty W A 8 €
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